HIGHER SECONDARY SAMPLE QUESTION PAPER

ACCOUNTANCY WITH COMPUTERISED ACCOUNTING
CLASS-II Max Score: 60

Time: 2 Hour

Part A - Accountancy (Score:40)

Answer any four Questions from 1 to 5 Each carries 1 score

1. Under Fixed capital method , all adjustments are recorded in .............. account

adl MW & 2adlg@d ©loles SR, of)gp (SANBOMEBBGO ..  GCOHOVENE 1@
GEUNA]S)OmMM,

2. On admission of a partner, the premium brought by the new partner is credited to.... Capital
account

(a) Old (b) New (c)All (d) Equal

80 al@®dglo® M&m1866MmdM, « ROI® B8] adomsyaIm (oflalwoe a@wwly
02190 SN ....... DIRIDM CRHEODNE laIden

(a)) ale@@ (i) a @O (W) af)eldo (W) malfo

3..Amount payable to the deceased partner is transferred to.................ooooeoiiiiiinne alc

DOEMA ]S IEIE1HE) MDD NS O e I GRIHE) AIQ I

4. On dissolution of a firm , Partner’s capital accounts are closed through
(a) Reallisation a/c (b) Drawings a/c  (c) Bank a/c  (d) Loan account

80 M0dalMo all@lglyallspemudnd, al@d81was maIbm CREODNS 0D GgIM
0.21QQM@... ...CRIHOHIEM
(a) 0 1WOORIGM UM GREOVENE  (b) CWIW 683 GRAONDMNE  (c) NIDE GRAO VNS
(d) CRIDEMGRE VNS

5. Realisation loss transferred to ................ Account

O1@OPRICMIAHMD Mao AIQIMA)...... GCRAODMNEIGRISOIEM
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Answer all Questions from 6 to 7 each carries 2 scores

6. Write any two differences between Fixed capital method and Fluctuating method.

molo aelwm Al I®io 2I1d6@IDSHM AAIWMEIG @00 OMANLR8E ~[omes1alo

N QUJ@IMVEBBWD ) PI0)b>.

7. A, B and C are partners sharing profits and losses in the ratio 5:4:1. B retires from the business. A
and C acquire B’s Profit in the ratio 1:3. Calculate Gaining Ratio

A,B.C af)m]al 5:4:1 af)M GRM)aIdOOD 1@ AIDEMaYo Al 1S)M ald:dglegoem. B

enflylmml@d mim) afleals)y. A®o C @Yo 1:3 af)M GRMAIDOOD @ B ®,6S 2IdE@o
EMS)M;. EGMS BRMaldMo &EMBOIEN) B>

Answer any 2 Questions from 8 to 10. Each carries 3 scores

8. Expain any three factors affecting Valuation of goodwill

W afld oeymlden@enn mpwWlenm foo@lage @M FaISH R0
QNweE)d©166) 6

9. Calculate interest on drawings @12% in the following cases
(a) Rs2000 are drawn on the 1stday of every month throughout the year
(b) Rs 1000 are drawn on the last day of every month throughout the year

(c) Rs 1000 are drawn at the middle of every month

M lajo@ym MmAEaREIo ¢ WIWTon)&:8260S alallte &Mmand80)d alello @12%
(a)) QUBH0 29)QUMY0 af)Q)D ATV B0 MW 2000 al ailoduaileym;
(nf) AUB o @)9)M0 af)gyd Mo GRAUMIM Gl 1000 @Jal
afloduelee)my
(1) af)g)d @M AW O 1cd 1000 ©alt ailmdalailee)m
10.State any three difference between realization account and Revaluation account?
01WeRRIEM M BREOHVMNS)o O1NIIAREAUHM BRIOVMNB)o MR 12,86

af)oam@]ago M QU@ IMo o)L

Answer all Questions from 11 to 12 each carries 4 scores

11. Ajo and Cijo are partners in a firm sharing profits and losses in the ratio of 5:3. Saji is admitted
in the firm for 1/5t share of profitis. He is to bring in Rs. 20,000 capital and Rs.4,000 as his

share of goodwill. Give Journal entries
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a. When the amount of Goodwill is retained in the business
b. When the amount of Goodwill fully withdrawn

c. When 50% of the amount of Goodwill is withdrawn

@RERIWYo  M1ERIWo  5:3 )M  GRMPAIIOODIG LIDEMYEBBD  aldls)m
MOdaImOmleal  al@oglé:goam. apngomlen 15 alladlomooimiey mglo®
MO INOB 1@ (o160 {1 2{l@1e0m;. V] 1000 . 20,000 @t OJRILMALR0 4,000 1YY
@ afla0l®ae 0656N8)Q106Mo .MIOLA]O@IM GR2eMT@D o f)0D(S 10D MDY

o). Mo oye enflmlmalad mleimldomyemudod
enfl. W@ > al)BemAdWy0 aflduellenemIdwd

. W@ s ®)es 50% o fmdaiellen)emdoud

12. Sagar, Eliyas and Jacky are equal partners . Jacky decides to retire. On the date of retirement , the
balance sheet of the firm showed the following
Profit and loss ( Dr) Rs 30000, General reserve  Rs 60000

Pass necessary journal entries to adjust the above .

MmN afellewmye 280l®go Mpalj ~i@Igle:goem. 20401 alloaleedm
@@20m1e0m). Aflealeom olwolwlo, madcinomlen eudaidm Qe Profit
and Loss A/c (Dr) 30000 @2~ , General Reserve 60000 @Qa-l o)) O & 0d Qens.

)G 1@ IO (&A@ 186 M@ 1) BRI AW CREMT af)M(S @D A ldQYIEN) b

Answer all Questions from 13 to 14 each carries 5 scores

13. On 1st January 2022, Balu and Venu entered into a partnership contributing Rs.20000 and
Rs.30000 respectively and sharing profits in the ratio 1:2. Balu is to be allowed a salary of
Rs.6000 per year. Interest on capital is to be allowed at 5% per annum. Venu is entitled to
receive a commission of Rs.2000. During the year, Balu withdrew Rs.2000 and Venu Rs. 2500.
Interest on the same being Rs40 and Rs.50 respectively. Profit in 2022 before the above

mentioned adjustments was Rs.15000. Prepare Profit and Loss Appropriation Account

2022 2M)QU®E] 1-0), NUDRRARYS GAUEMNRo WLND(@@o 20000 BJal®)o 30000 ©al®o
Mo@INIM 02l ® 2B 1:2 af)M GRMAIIOOD @ ld]5)0HIME B0) lBIe 0D
enflImm1od a@alsy. 62RO (I QIR 6000 @Jal WMIGo GRMOUGTSOEMo.
2210mEm10)  alelle (OB 5%  aldAFMARIBES  @RMIUE]HOMo.
cauem)ilay 2000 @al &edllHd AIE1EOIM BRAOM®@YENE. 0D (UBHo enIda) 2000
Jal®o GO 2500 Oal®)o aflduelle)). @@ lam alaflte WL(@A0 40 OJal®)o
50 @gal@26m. )& 10d Mg aflaflo] (@dlH0MEBBOSE 2MREE 2022 6 2120 15000
oW M. 218MaY AMIeWIN GRS VENE MQIOIH6) b
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14. X, Y and Z are partners sharing profits in the ratio 3:2:1. Y retire from the firm on 31/12/2013
and a sum of Rs.60000 due to him. X and Z promised to pay the amount in 4 equal

instalments along with interest @12% P.A. Prepare Loan account upto 31/12/2017

X, Y, Z o)1 3:2:1 )M @RMYa > @ 2ID@0 al®s 1S)M aldhdglego6m. Y 31/12/2013-
@ quodaimoo o mlm) aflealean)&®ie GREG-OOM 1M M@&IMESE 60000 @al X, Z
oM a1@Oglewd 4 Maly N8IV 12% QDA S alaile Madlmo M@HIM

men®lg)). 31/12/2017 QU OB CLIDEND BRAEOVENE MPIINIBE) &

Answer any one Questions from 15 to 16 each carries 8 scores

15. Ramu and Anju sharing profits as 3:1 and the agree upon dissolution. The Balance sheet as on
March 2022 is as under

Balance sheet of Ramu and Anju as on March 31 2022

Liabilities Amount(Rs) | Assets Amount(Rs)

Bank Loan 12,000 Cash at Bank 25,000

Creditors 18,000 Stock 45,000

Capital Furniture 16,000

Ramu 110000 Debtors 70,000

Anju 68000 178000 Plant and Machinery 52,000
208000 208000

Ramu took over Plant and Machinery at an agreed value of Rs.60000. Stock and Furniture were sold
for Rs42000 and Rs.13900 respectively. Debtors were tookover by Anju at Rs. 69000. Creditors were
paid subject to discount of Rs.900. Ramu agrees to pay the loans. Realisation expenses were Rs.

1600.

Prepare Realisation account, Bank account and capital account of the partners

@I Yo GREDRo aDEo 31 GRW] aldls)mM.eeld emilmimqy muadalmo
2022 @2dg] 31 eeeygs IAlef®o
@60 2)flo@yo cudRIM) &g 2ROIOS 6.2iBeeM

@RS.2))a 25000  WIEEM@OIW].

Liabilities Amount(Rs) | Assets Amount(Rs)
Bank Loan 12,000 Cash at Bank 25,000
Creditors 18,000 Stock 45,000
Capital Furniture 16,000
Ramu 110000 Debtors 70,000
Anju 68000 178000 Plant and Machinery 52,000
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208000 208000

60000 @al® &S WIREMIal(@o M@&1 ©I2) ofdMo OAAIMOTW0 wROQSOD).
BIUOBN0 aBEM 12JO0)dGl0 WINI(HA0 42000 OJalW @60 13900 Oal@ @60 AlQ,.
oWEQYMlam 69000 ©Jn I H6) GRED R, aROQSIOY.. (@BWIEQF MY 900 ©al & 1¥1.a]
OSSO O M@ 1. OB GRIDM BRSW EOIM I MEA®lg)). OIWONRIEMV M
0210101 1600 @ 1@IW ],

a1®0818:8205 O1WANLIGMHM GREOVNE, MIDE: GRENVNE, AJAILM GRAHO VNS
)M QD028 &

16.The following is the balance sheet of Anu and Manu who share profit and losses in the ratio
of 3:2

Balance Sheet

Liabilities Assets Amount(Rs)
Creditors 30,000 Cash 10,000
Capital account Debtors 20,000
Anu 50000 Stock 30,000
Manu 40000 90,000 Machinery 40,000
Furniture 20,000
1,20,000 1,20,000

Mr Vinu is admitted into the partnership on the following terms

a. The new partner has to bring Rs. 30000 as capital and RS. 10000 as goodwill for 1/6th
share

A creditor of Rs. 2,000 will not claim his amount

Furniture is revaluated at Rs. 15,000

Stock reduced by Rs. 2,000

Depreciation on Machinery @ 15% P.A.

® 20T

Prepare Revaluation account, Partners Capital account and Balance Sheet after admission

eemdloM®yo amallo@yo enoaidm &g @I0¥ 0&I5)80Mm). GRAIM 3:2 af)m
@M IO 1@ AIDEM Yo ol 1)

Liabilities Assets Amount(Rs)
Creditors 30,000 Cash 10,000
Capital account Debtors 20,000
Anu 50000 Stock 30,000
Manu 40000 90,000 Machinery 40,000
Furniture 20,000
1,20,000 1,20,000
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ald aflmafem emlajo®m aljoumodglm al@dg1emom 1o (aleauwlaflal

a. alO1® al®:dg]. 23a1WMAdW] 30000 ©Zal®yo 1YW (1@ enM@D 1@ 10000
©2al®0 OBIENS)UBEMo.0 RO W alEIG1H6) 1/6 0 AW A 2IE1H6)0

80} (HWIQA 2,000 Oal @) 6K o 6.219flg

aDB6M1 2088205 o yMBDYRl (M IdeQ®o . 15,000 GREM

equose) Aflal 2,000 &)060m;

eadlmoleyes Wlellmlewaamd @ 15%

2o o

@GR A HMMGRHo o RMADYRLIMIBIM® GRAOVENE ,aIdBSCMF M) d §dailQd
GRAOVENE, UDAIMM Q) af)M IOl OQYI0IH6) 8

Part B - COMPUTERISED ACCOUNING ( 20 Score)

Answer any 3 Questions from 17 to 20 each carries 1 score

17. .BRS “for ‘ Bank Reconciliation Statement” is an example for ............cccccerrrrrrnnnen

(a) Block Code (b) Sequential Code (c) Mnemonic code (d) None of these

oo Oldemmilellewaimd equQean) BRS af)M 20080900 1@ af)P)@)MO.......
M ©RIaN®6Mo @REM

() GERJOHE) GO (6ni]) Ml 1D @B GeIW (MU]) Mleemoem]ds o (wl)
EDOMIM,0 GRL

18. =count (45,24,ab. 34, 25, pq) returns ......
=count(45,24,ab,34,25,pg) M@ &) M,........
19. $A$5 is an example for
(a) Relative reference (b) Absolute Reference (c) Mixed (d) None of these
$A$5 B30 HBIAOOEMAIEM
(a) @RCaldH | 0aDOMM (b) EHOAIRI OalOMMY (c) & 18 qual (d)
€)OmIM o @RLY
20.Identify the group under which outstanding salary is to be created in an accounting software

(a) Current Liabilities (b) Current assets ( ¢) Loand and advances (d) Expenses

80 GREOVMETor) sMIafgeOI® “ @s1@le mge” mysflesnas (aflom
®10 1201w &

(a) $00 e1@enI0eaIq] (b) SO0 GRAVQ &0 (c) GRIDEMo GRAIIMM o (d) §21BIOE: 0D
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Answer Questions from 21which carries 2 score

21. . State the various elements of Libra office base

e @Radlmy cenimilan caIs®eBB0d (M @I 1808

Answer all Questions from 22 to 23 each carries 3 scores

22. Briefly explain the security features of Computerised accounting System?

$oalfd5000M A  GeeOVMElory  mlmomle  MEe:d  MallewUm @
Modla Tomad®] Ele:0 1668

23. List out the advantages of charts and graphs in business applications

el lmm)  @pqflesosmagloal 21DB5®E05®o  (NIaNGEIOS®)o  1EMEBBD
15100500 &

Answer all Question 24 which carries 4 scores

24. Write the equation used for finding Gross salary and net salary , if basic pay , DA, HRA and
,PF,SLI are given as salary components and deductions

BP, DA, HRA, PF, SLI o) 101 (MG RIS 68B8IW 0 & 1910 B8IW0 M@ &> 1wg e enees @,
Q@OOM MIGARe GRQIBIWAo HANSMOYMM M Qale@IUI1BNM MANIIH: | BB

)90

Answer any one Questions from 25 to 26 each carries 5 scores

9. Explain different statistical functions available in Libre office calc

aflo@n @0l &2@esld  agjmd® allaflw qIQINIeem  aot) My 0d
QNweE)®© 1068

10.Write the procedure to create the following ledger accounts by preparing a table showing relevant
groups and subgroups.

(IMVEMAI®  (NJald®8lo QallDgal)dBlo &IMMIBNRM &1 alfld ORUIOIES]
Mo oM 0RIRA GREODNSYBW M) 186M@1ME8 MSalsl(@Ro o)Ly

a. cash
b. capital
c. Purchase
d. creditors
e. Plant and machinery

f. sales
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Question prepared by

KATTAPPANA CLUSTER

JOHNSON KOSHY, GHSS KALLAR, IDUKKI
ANILKUMAR PV, GHSS KUMALY
SANJAI'S, GHSS VAGAMON
NISHA ANTONY, GHSS THOPRNKUDY
LIGI LALY JOSE, SMHSS, MARYKULAM
SMITHA THOMAS, SXHSS CHEMMANNAR
TRENNYMOL K THOMAS, GHSS NEDUMKANDAM
MAYA ELIZHABETH ABRAHAM, GTHSS DEVIKULAM
SHAINY MATHEW, SMHSS MARYKULAM
. SHEENAMOL AUGUSTINE, SMHSS MURICKASSERY
. RENIMOL JOSE, STHSS ERATTAYAR
. CESSIL JOSE,SMHSS MARIYAPURAM
. SIJOY GEORGE, SMHSS VELLARAMKUNNU
. GEORGE BIJO JOSEPH, MESHSS VANDANMEDU
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